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Floma BTV Merm | B2 | ame | oo e | B | e [T e | B2 [T | B | M
; 100kN/mZ#8% % - -~ -|3mEEZS ~ - -| 100kN/ Mm% 2% - -~ -|3mEHERS -~ -
Zhst 100|000 ~ 332 49.21 | #hist | 000 ~ 332|202 8.90 ZFh st 1.00 | 500 ~ 500 49.21 | #hidst | 500 ~ 5.00 | 2.02 8.90
2 100kN/mZ#8% % ~ -|3mEEZS ~ -| 100kN/ Mm% %% ~ -|3mEHERS ~
Zhst 1.00 | 000 ~ 452 66.32 | #hust | 0oo ~ 452|208 917 Zhst 100|500 ~ 7.70 66.32 | Thist | 500 ~ 7.70 | 2.08 917
3 100kN/mZ#8% % ~ -|3mEEZS ~ -| 100kN/ Mm% 2% ~ -|3mEHERS ~
Zhst 1.00 ) 0.00 ~ 523 76.84 | #hLst | 000 ~ 000|177 7.81 Zhst 100|500 ~ 830 76.84 | Thst | 500 ~ 830|177 7.81
4 100kN/mZ#8% % ~ -|3mEEZS ~ -| 100kN/ Mm% 2% ~ -|3mEHERS ~
FhLs 100|000 ~ 641 9547 | FhLlst | 000 ~ 641)| 226 9.96 Fhns 100|500 ~ 1180 95,47 | FnLSY | 5,00 ~ 11.80| 2.26 9.96
5 100kN/M%#BZ25 | 1.00| 000 ~ 025| 104.18 |3m%E#BZD ~ -| 100kN/mi# 25 | 1.00 | 1260 ~ 1360| 104.18 |3mEEZD ~
Fhs 100025 ~ 694 100.00 | Fhis | 000 ~ 691|235 10.33 FhnLs 100|500 ~ 1260 100.00 | #nst | 500 ~ 1360|2.35 10.33
P 100kN/mZ#8% % ~ -|3mEEZS ~ -| 100kN/ Mm% 2% ~ -|3mEHERS ~
Zhst 1.00) 000 ~ 557 8213 | #hist 000 ~ 000|189 833 Zhilst 100|500 ~ 9.20 8213 | #hist | 500 ~ 9.20 | 1.89 833
- 100kN/mZ#8% % ~ -|3mEEZS ~ -| 100kN/ Mm% %% ~ -|3mEHERS ~
Fhs 100|000 ~ 606 89.86 | #nLst | 000 ~ 606|252 10.23 Fhns 100|500 ~ 1050 89.86 | EnLSY | 5,00 ~ 1050 | 2.52 10.23
g 100kN/mZ#8% % ~ -|3mEEZS ~ -| 100kN/ Mm% 2% ~ -|3mEHERS ~
Fhs 1.001 000 ~ 595 88.16 | =hdst | 000 ~ 595|230 10.14 ZhLs 1.00 1500 ~ 1020 88.16 | =Lt | 5,00 ~ 1020|250 10.14
9 100kN/mZ#8% % ~ -|3mEEZS ~ -| 100kN/ Mm% 2% ~ -|3mEHERS ~
Zhst 1.00) 000 ~ 466 6828 | #nust | 0oo ~ 466|202 8.90 ZFh st 100|500 ~ 7.60 68.28 | #nst | 500 ~ 760|202 8.90
0 100kN/mZ#82 % ~ -|3mEEZS ~ -| 100kN/ Mm% %% ~ -|3mEHERS ~
Zhst 1.00 | 000 ~ 341 50.55 | #Fnst | 000 ~ 341|201 882 Zhst 1.00)5.00 ~ 510 50.65 | st | 500 ~ 510|201 882
100kN/m%#82 % ~ ImEBZD ~ 100kN/mMZ#8% % ~ ImEBAD ~
Zhst ~ Zhllst ~ Zhst ~ Zhllst ~
100kN/m%#8% % ~ ImEBZD ~ 100kN/mMZ#8% % ~ ImEBRD ~
Zhst ~ Zhllst ~ Zhst ~ Zhllst ~
100kN/mZ#8% % ~ ImEBZD ~ 100kN/MZ#8 % % ~ ImEBRD ~
Zhst ~ Zhllst ~ Zhst ~ Zhllst ~
100kN/mZ#8% % ~ ImEBZD ~ 100kN/mMZ#8% % ~ ImEBRD ~
Zhst ~ Zhllst ~ Zhst ~ Zhllst ~
100kN/mZ#8% % ~ ImEEZD ~ 100kN/mMZ#8% % ~ ImEBRD ~
Zh s ~ Zhn st ~ Zh s ~ Zhn st ~
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